2B R 5 [ No.3 (5/2)

ROFRINC DV THIAE X,
(1) EEEBOBEEDEH (FER) Thd I LDEFRE - — ) —< ORI (HER)
(2) fEATBI%L & FMBIE DBk & HBLTMBI R

R% R4,
(1) a—=v— - Y=< OBKERD & MBSO I, Mo mBEIc 42 2 &
(2) u DSFRBET v D3 u DIBFNBEBTH 2 L &, wid —o OLEHNBELTHL L,

EHIBESL £ (2) ZHBEERE (r, 6) % V> C
f(z) =u(r,0) +iv(r,0), z= retf

EERTEE, a—y— ) —<2roBfRAZ

1 1
ur = —vg,  Up=——U
T r

LRIND LR, (BbHE p2s )

F(2) = u(z,y) + vz, y) DEHTERTH B L =, RETHE,

I'(2) = ug — iuy = vy +ivy

FHAIBEEL w(z, y) WA LT, HRFARBIB v(z.y) 2RO 2 L2 L, ROGEITHREK
MBIz R &, £/, WSS 2 MTBI%E KD X,

(1) 2% —y?

%\H

(6] G ASNTBEEDHABERTH 2 &I 1T a, b2ED, HEHMELTERD X,

(1) u=az3+ xy>.

(2) u T cosy.

* ABIED 1, AHOHiIRRE (p27) 1 12, 17 28



BF2 B R [

No.4 (5/9)

ROFHHIZ D THIMIE X,
(1) FAGRDER
(2) MEATBISL & FAEE, FMBIRDBIMR

Rz,

(1) FRIFEESL f(2) DG (F/(2) = 0 % % 45H) LA CEMTHS &,
(2) FARIBEL o(2) & IBHFESK f(2) DA o(f(2)) DTSR TH 2 2 &

ROMMEHT, £ (NOMIC) WMBOGH 2 — 2 12X 5H%E2RkD X,

(1) v(t) = (rcost,rsint), r =1,2,3.

(2) v(t) = (tcosb,tsinb),  =1,7/4,7/3, —7/2.

(3) Re(z) =0,+1,£2.

(4) Im(z) =0,+1,£2.

RoOM#zHT, £ oK) MROGHR 2 — 1/2 12k 28 %Rk X,

(1) v(t) = (rcost,rsint), r = 0.5,1,2,3

(2) y(t) = (tcosO,tsinb), 0 = 1,7/4,7/3, —m /2.

(3) Re(z) =0,+1, £2.

(4) Im(z) = 0,+1, £2.

R DB T\ %KD &
(1) fz) =2~z
(2) f(z) =sinz.

E7, ZNoDRZELMMOMOMELZEZ 5 2 L TRANICEM TR Z L 2RE,

* HEED 1.5 HioHiARME (p31) 1 19



